
  

     (DICS 31) 

B.A./B.Com./B.Sc./B.H.M./B.B.A./B.B.M. DEGREE EXAMINATION, DECEMBER 2019. 

Third Year 

SCIENCE AND CIVILIZATION 

Time : One and half hours Maximum : 50 marks 

SECTION A — (2 × 13 = 26 marks) 

Answer any TWO questions. 

1. Explain in detail about Neolithic age of metals. 

 ÌZàË Äñý¬MæüP °Äñý*Í¤MŠü Ä¶ý¬Væü… Væü$Ç…_ ÑÐ@þÇ… è̂þ$Ð@þ¬. 

2. Give an account on the significance discoveries in medical field during 20th 

Century. 

 20 Ð@þ Ô¶ý™éºªÐ@þ¬ÌZ  OÐðþ§æþÅÆæÿ…Væü…ÌZ Væü$Ç¢…ç³§æþW @̄þ Ð@þ¬QÅOÐðþ$¯@þ BÑçÙPÆæÿ×ýËOò³ JMæü ÐéÅçÜÐ@þ¬ @̄þ$ 
{ÐéÄ¶ý¬Ð@þ¬. 

3. Describe the importance of Mathematics. 

 Væü×ìý™èþÐ@þ¬ Äñý¬MæüP {´ëÐ@þ¬QÅ™èþ @̄þ$ ÑÐ@þÇ… è̂þ$Ð@þ¬. 

4. Give an account on the invention of Steam engine. 

 BÑÇ C…h Œ̄þ Äñý¬MæüP BÑçÙPÆæÿ×ýOò³ JMæü ÐéÅçÜÐ@þ¬ {ÐéÄ¶ý¬Ð@þ¬. 

5. Explain the Non conventional energy source with example. 

 Ýë…{ç³§éÄôý$™èþÆæÿ Ô¶ýMìü¢Ð@þ @̄þÆæÿ$Ë @̄þ$ E§éçßýÆæÿ×ýË™ø ÑÐ@þÇ… è̂þ$Ð@þ¬. 

6. Explain about biological killers. 

 iÐ@þ MìüËÏÆŠÿË Væü*Ça ÑÐ@þÇ… è̂þ$Ð@þ¬. 

 SECTION B — (3 × 4 = 12 marks) 

 Answer any THREE questions. 

7. (a) Insulin  

  C @̄þ$ÞÍ¯Œþ  

 (b) Computer 

  Mæü…ç³NÅrÆŠÿ 

 (c) Teleprinter  

  sñýÍ{í³…rÆŠÿ 

 (d) DDT 

  yìþ.yìþ.sìý 



  

   

   

 (e) Atomic power 

  A×ý$Ô¶ýMìü¢ 

 (f) Solar energy 

  ÝûÆæÿÔ¶ýMìü¢ 

 (g) Security  

  ¿¶ý{§æþ™èþ 

 (h) Iron 

  C @̄þ$Ð@þ¬ 

 (i) Satellite 

  Eç³“VæüçßýÐ@þ¬ 

 SECTION C — (3 × 4 = 12 marks) 

 Answer ALL questions. 

8. Fill in the blanks :- 

 (a) _____ invented pencillin. 

  _____ - -ò³°ÞÍ Œ̄þ @̄þ$ GÐ@þÆæÿ$ Mæü @̄þ$Vö¯é²Ææÿ$? 

 (b) Fertilizers are used in _____. 

  GÆæÿ$Ð@þ#Ë$ GMæüPyæþ Ðéyæþ$™éÆæÿ$ _____. 

 (c) ILO means _____. 

  I.GÌŒý.K A @̄þV> ó̄þÑ$ _____. 

 (d) Radium therapy is for _____. 

  ÆóÿyìþÄ¶ý$… _Mìü™èþÞ _____ MøçÜ… 

9. Choose the correct answer :- 

 (a) Blue baby syndrome is due to  

  º*Ï »ôý¼ íÜ…{yøÐŒþ$ §óþ° Ð@þË @̄þ Ð@þçÜ$¢…¨  

  (i) Mercury (iii) Lead 
   ´ë§æþÆæÿçÜÐ@þ¬  ïÜçÜÐ@þ¬ 

  (ii) Nitrates (iv) Phosphates 
   Ō ðþ{sôýsŒýË$   ¸ëõÜµr$Ï 

 (b) Radio was invented by 

  ÆóÿyìþÄñý* @̄þ$ GÐ@þÆæÿ$ Mæü°ò³sìýtÇ? 

  (i) Thomas (iii) Biard 
   £øÐ@þ$‹Ü  »ñýÆæÿ$z 



  

   

   

  (ii) Johane Gutenberg (iv) Gulimo Marconi 
   gê Œ̄þ Væü$sñý Œ̄þºÆŠÿY  Væü$ÍÐðþ* Ð@þ*ÆöP° 

 (c) Pesticides are used 

  ç³#Ææÿ$Væü$Ë Ð@þ$…§æþ$Ë$ §óþ°Mìü Eç³Äñý*WÝë¢Ææÿ$? 

  (i) to increase production (iii) To stop floods 
   E™èþµ†¢° ò³… è̂þyé°Mìü  Ð@þÆæÿ§æþË$ Bç³yé°Mìü  

  (ii) To kill insects (iv) To bring rain 
   MîürM>Ë @̄þ$ è̂þ…ç³yé°Mìü  Ð@þÆæÿÛ… MöÆæÿMæü$ 

 (d) Geothermal energy 

  ¿¶ý* EçÙ~Ô¶ýMìü¢ 

  (i) Conventional energy (iii) Non conventional energy 
   Ýë…{ç³§éÄ¶ý$Mæü Ô¶ýMìü¢  Ýë…{ç³§éÄôý$™èþÆæÿ Ô¶ýMìü¢ 

  (ii) Chemical energy (iv) Atomic energy 
   ÆæÿÝëÄ¶ý$ @̄þ Ô¶ýMìü¢  A×ý$Ô¶ýMìü¢ 

10. Match the following. 

 (a) H2SO4  (i) Communication 
  H2SO4   ¿êÐ@þ{ç³ÝëÆæÿÐ@þ¬ 

 (b) Television  (ii) Conventional energy 
  sñýÍÑf Œ̄þ   Ýë…{ç³§éÄ¶ý$Mæü Ô¶ýMìü¢ 

 (c) Wind energy (iii) Acid rains 
  V>ÍÔ¶ýMìü¢   BÐ@þ$ÏÐ@þÆ>ÛË$ 

 (d) Electricity  (iv) Non Conventional energy 
  Ñ§æþ$Å è̂þeMìü¢   Ýë…{ç³§éÄôý$™èþÆæÿ Ô¶ýMìü¢ 

———————— 
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B.Com. DEGREE EXAMINATION, DECEMBER 2019. 

Third Year  

BUSINESS LAWS 

Time : Three hours  Maximum : 70 marks 

SECTION A — (4  3 = 12 marks) 

Answer any FOUR of the following questions. 

1. Valid contract. 

 

2. Caveat emptor. 

 

3. Bailor. 

 

4. District forum. 

 

5. Conditional sales. 

 

6. Minors contracts. 

 

7. Sub agent. 

 

SECTION B — (2  8 = 16 marks) 

Answer any TWO of the following. 
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8. "All contracts are agreements, but all agreements are not contracts" – Explain. 

 " "  

9. What are the rules relating to remedies to breach of contract? 

 

10. What are the different ways for creation and termination of an agency contracts? 

 

11. What are the rights of unpaid Vendor? 

 

12. Doctorine of ultra-vires. 

 

SECTION C — (3  14 = 42 marks) 

Answer any THREE of the following. 

13. Explain the legal provisions with reference to acceptance and consideration. 

 

14. Write about consumer protection act 1986. 

 

15. Describe the appointment, removal of a company director. 

 

16. What are the different ways for discharge of contract? 

 

17. "A contract with a minor is void-ab-initio" – Explain. 

 

18. What are the different ways for winding up of a company? 
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B.Com. DEGREE EXAMINATION, DECEMBER 2019. 

Third Year  

INCOME TAX AND PRACTICAL AUDITING 

Time : Three hours Maximum : 70 marks 

SECTION A — (2  3 = 6 marks) 

Answer any TWO of the following questions. 

1. Rights of auditor. 

 

2. Fair report. 

 

3. Window dressing. 

 

4. Internal check. 

 

SECTION B — (2  14 = 28 marks) 

Answer any TWO of the following questions. 

5. Mention the objects and advantages of an audit. 

 

6. Vouching of cash receipts – Explain. 

 

7. Discuss the qualification of an Auditor. 

 

8. Write about the preparation of an Audit report. 
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SECTION C — (2  3 = 6 marks) 

Answer any TWO of the following questions. 

9. Deduction from income from house property. 

 

10. Income. 

 

11. Short term capital gains. 

 

12. Sec 80 C deduction. 

 80 C 

SECTION D — (2  15 = 30 marks) 

Answer any TWO of the following questions. 

13. How to determine the residential status of an assessee? 

 

14. Explain the set-off  and carry-forward of losses. 

 " "  

15. From the following details compute the income from salary : 

 Basic pay Rs. 4,40,000 DA Rs. 2,00,000 (Including 60% of retirement budget) 

 HRA Rs. 35,000, he lives in his own house. He contributes RPF Rs. 25,000 and some amount 
contributes by employee. He enjoys motor car benefit by his employer Rs. 50,000 but he is 
using only office purpose. 

 

PF 
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16. Calculate the income from house property owned by Mr. Rao for the assessment year  
2017-18 : 

 Municipal value Rs. 60,000, fair rental value Rs. 90,000. Rent received per month Rs. 10,000. 
The house was vacant for one month. Outstanding municipal taxes Rs. 3,000. Give Fire 
Insurance premium paid Rs. 1,000. 

 

 

 

 

–––––––––––––––– 
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B.Com. DEGREE EXAMINATION, DECEMBER 2019. 

Third Year 

COST AND MANAGEMENT ACCOUNTING 

Time : Three hours Maximum : 70 marks 

SECTION A — (4  3 = 12 marks) 

Answer any FOUR of the following questions. 

1. Cost accounting Vs Management accounting. 

 M>‹Üt AMúsìý…VŠü Ð@þ$ÇÄ¶ý¬ Ðóþ$¯óþgŒýÐðþ$…sŒý AMú…sìý…VŠüË¯@þ$ Ñ¿ôý¨…^èþ$Ð@þ¬. 

2. Economic Order Quantity (EOQ) 

 B§éç³NÆæÿÓMæü ç³ÇÐ@þ*×ýÐ@þ¬ 

3. Objectives of financial statements. 

 BÇ¦Mæü °Ðóþ¨MæüË «§óþÅÄ¶ý$Ð@þ¬ 

4. Essentials of Good wage system. 

 Ð@þ$…_ Ðóþ™èþ¯@þ ç³§æþ®† Äñý¬MæüP BÐ@þÔ¶ýÅM>Ë$ 

5. Escalation clause and Retention money. 

 GçÜPÌôýçÙ¯Œþ M>Ïk Ð@þ$ÇÄ¶ý¬ Ñ$¯@þàÆÿ¬…ç³# ¯@þVæü§æþ$ 

6. Allocation of overheads 

 ç³Æø„æü Ð@þÅÄ¶ý*Ë MóüsêÆÿ¬…ç³# 

7. Explain any three profitability Ratios 

 HOÐðþ¯é Ð@þÊyæþ$ Ìê¿¶ý§éÄ¶ý$Mæü °çÙµ™èþ$¢Ë¯@þ$ ÑÐ@þÇ…^èþ…yìþ. 

8. Trend analysis 

 ´ùMæüyæþË ÑÔóýÏçÙ×ý ({ç³Ð@þ–™èþ$¢Ë ÑÔóýÏçÙ×ý) 

 SECTION B — (2  8 = 16 marks) 

 Answer any TWO of the following questions. 

9. Define Cost accounting? Explain its objectives and advantages. 

 M>‹Üt (Ð@þÅÄ¶ý$) AMúsìý…VŠü °ÆæÿÓ_…^èþ…yìþ? §é° «§óþÅÄ¶ý*Ë¯@þ$ Ð@þ$ÇÄ¶ý¬ {ç³Äñý*f¯éË¯@þ$ ÑÐ@þÇ…^èþ…yìþ. 

10. What are the advantages and disadvantages of Ratio analysis? 

 °çÙµ™èþ$¢Ë ÑÔóýÏçÙ×ý Äñý¬MæüP {ç³Äñý*f¯éË$ Ð@þ$ÇÄ¶ý¬ ç³ÇÑ$™èþ$Ë$ (Ìôý§é) ÌZ´ëË$ HÑ? 
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11. From the following particulars calculate the earning of workman under Halsey and 
Rovan plan. 

  Working hours in a week – 48 

  Hourly rate – Rs. 80 

  Piece rate  – Rs. 35 
  Standard time per piece – 20 minutes 
  Standard Production  – 120 pieces per week 
  Actual production per week  – 150 pieces. 

 “Mìü…¨ ÑÐ@þÆæÿÐ@þ¬Ë ¯@þ$…yìþ JMæü M>ÇÃMæü$°Mìü JMæü ÐéÆæÿ…ÌZ çÜ…´ë§æþ¯@þ¯@þ$ àÌôýÞ ç³£æþMæüÐ@þ¬ ÆøÐèþ¯Œþ ç³£æþMæüÐ@þ¬ 
§éÓÆ>  ÌñýMìüP…^èþ…yìþ.  
  ÐéÆæÿ…ÌZ ç³°Væü…rË$  – 48  
  Væü…rMæü$ Ðóþ™èþ¯@þÐ@þ¬  – Ææÿ*.80  
  ï³çÜ$Æóÿr$   – Ææÿ*. 35  
  JMæü ï³‹ÜMæü$ Ýë«§éÆæÿ×ý M>ËÐ@þ¬   –  20 °Ñ$ÚëË$  
  ÐéÆ>°Mìü Ýë«§éÆæÿ×ý E™èþµ†¢  –  120 ï³çÜ$Ë$  
  ÐéÆæÿ…ÌZ ÐéçÜ¢ÑMæü E™èþµ†¢  –  150 ï³çÜ$Ë$ 

12. Prepare Cost sheet showing 

 (a) Cost of material used 

 (b) Prime Cost 

 (c) Works Cost 

 (d) Cost of Production 

 (e) Percentage of works overheads to productive wages 

 (f) Percentage of general overheads to works cost. 

 Rs. 
Stock of Material (1-1-2017)  10,000 
Stock of finished goods (1-1-2017) 25,500 
Raw material purchased 2,90,000 
Productive wages 1,95,000 
Sales 6,06,000 
Stock of materials (31-12-2017) 12,500 
Works overhead 43,000 
Office and general expenses 36,000 
Stock of finished goods (31-12-2017) 24,000 

 “Mìü…¨ ÑÐ@þÆ>Ë¯@þ$ ^èþ*ç³#™èþ* Ð@þÅÄ¶ý$°Ðóþ¨Mæü¯@þ$ ™èþÄ¶ý*Ææÿ$ ^óþÄ¶ý$…yìþ. 
 (a) Ñ°Äñý*W…_¯@þ Ððþ$sîýÇÄ¶ý$ÌŒý Ð@þÅÄ¶ý$Ð@þ¬ 
 (b) {´ë£æþÑ$Mæü Ð@þÅÄ¶ý$… 
 (c) Ð@þÆŠÿPüÞ Ð@þÅÄ¶ý$… 
 (d) E™èþµ†¢ Ð@þÅÄ¶ý$… 
 (e) E™éµ§æþMæü Ðóþ™èþ¯éË$ ç³Æø„æü ç³° Ð@þÅÄ¶ý$Ð@þ¬ Äñý¬MæüP Ô>™èþ… 
 (f) ç³° Ð@þÅÄ¶ý$Ð@þ¬¯@þMæü$ Ýë«§éÆæÿ×ý ç³Æø„æü Ð@þÅÄ¶ý$Ð@þ¬ Äñý¬MæüP Ô>™èþ… 
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 Ææÿ*. 
Ððþ$sîýÇÄ¶ý$ÌŒýÞ °ËÓ (1.1.2017) 10,000 

ç³NÇ¢ AÆÿ¬¯@þ çÜÆæÿ$Mæü$ °ËÓ (1.1.2017) 25,500 

Mö¯@þ$VøË$ ^óþíÜ¯@þ Ð@þ¬yìþç³§éÆ>®Ë$  2,90,000 

E™éµ§æþMæü Ðóþ™èþ¯éË$ 1,95,000 

AÐ@þ$ÃM>Ë$ 6,06,000 

Ððþ$sîýÇÄ¶ý$ÌŒýÞ °ËÓ  (31-12-2017) 12,500 

ç³° ç³Æø„æü Ð@þÅÄ¶ý$Ð@þ¬ 43,000 

BïœçÜ$ Ð@þ$ÇÄ¶ý¬ Ýë«§éÆæÿ×ý QÆæÿ$aË$ 36,000 

ç³NÇ¢ AÆÿ¬¯@þ çÜÆæÿ$Mæü$ °ËÓ (31.12.2017) 24,000 
  

 SECTION C — (3  14 = 42 marks) 

 Answer any THREE of the following questions. 

13. Avantika & Co have three Production departments and two service departments. 

 Production departments Service departments 
Departments A B C X Y 
Overheads 3000 2000 1000 234 300 

 The company decided to charge the service departments cost on the basis of 
following percentages: 

Departments A B C X Y 
Service 
Dept-X : 

20% 40% 30% - 10% 

Service 
Dept-Y: 

40% 20% 20% 20% - 

 Create a report the expenses of service department may be apportioned with the 
help of simultaneous equation method. 

 AÐ@þ…†Mæü & Mæü…ò³± Ð@þÊyæþ$ E™èþµ†¢ Ñ¿êV>Ë¯@þ$, Æðÿ…yæþ$ õÜÐé Ñ¿êV>Ë¯@þ$ MæüÍWÄ¶ý¬¯@þ²¨. KÐ@þÆŠÿòßýyŠþÞ 
ç³…í³×îý  çÜ…“Væüçßý…V> D“Mìü…¨Ñ««§æþ…V> E¯@þ²¨.  

 E™èþµ†¢ Ñ¿êV>Ë$ õÜÐéÑ¿êV>Ë$ 
Ñ¿êVæüÐ@þ¬ A B C X Y 

KÐ@þÆŠÿòßýyŠþÞ 3000 2000 1000 234 300 

 õÜÐé Ñ¿êV>Ë$ QÆæÿ$aË¯@þ$ Ô>™éË {´ë†ç³¨MæüV> ¨Væü$Ð@þÑ«§æþ…V> ^éÇj ^óþÄ¶ý*Í.  
Ñ¿êV>Ë$ A B C X Y 

õÜÐéÑ¿êVæüÐ@þ¬ 
& X : 

20% 40% 30% - 10% 

õÜÐéÑ¿êVæüÐ@þ¬ 
& Y :  40% 20% 20% 20% - 
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 õÜÐéÑ¿êVæüç³# Ð@þÅÄ¶ý*Ë¯@þ$ ÑÑ«§æþ E™èþµ†¢ Ñ¿êV>ËMæü$ ºçßý$Ñ«§æþ çÜÒ$MæüÆæÿ×ê ç³§æþ®† §éÓÆ> Ñ¿¶ýf¯@þ ^óþçÜ*¢ 
°Ðóþ¨Mæü¯@þ$  ™èþÄ¶ý*Ææÿ$ ^óþÄ¶ý$…yìþ. 

14. From the following balance sheets of X Ltd prepare common size balance sheet. 

Balance Sheet 

Liabilities 2016  2017 Assets 2016  2017 

Share Capital 50,000  90,000 Land & Building 80,000  40,000 

Reserve fund 1,20,000  70,000 Plant 20,000  80,000 

Secured loans 20,000  25,000 Investments 5,000  10,000 

Unsecured loans 10,000  15,000 Stock 80,000  60,000 

Creditors 25,000  20,000 Debtors 40,000  30,000 

Bills payable 10,000  10,000 Cash 10,000  10,000 

 2,35,000  2,30,000  2,35,000  2,30,000 

 X ÍÑ$sñýyŠþ “Mìü…¨ BíÜ¢ Aç³šËç³sîýtË ¯@þ$…yìþ çÜÐ@þ*¯@þ ç³ÇÐ@þ*×ý BíÜ¢ Aç³šË ç³sîýt° ™èþÄ¶ý*Ææÿ$ ^óþÄ¶ý$…yìþ. 

BíÜ¢ Aç³šË ç³sîýt 

Aç³šË$ 2016  2017 BçÜ$¢Ë$ 2016  2017 

Ðésê Ð@þÊË«§æþ¯@þ… 50,000  90,000 ¿¶ý*Ñ$, ¿¶ýÐ@þ¯éË$ 80,000  40,000 

ÇfÆæÿ$Ó °«¨ 1,20,000  70,000 ´ëÏ…r$ 20,000  80,000 

àÒ$VæüË º¬×êË$ 20,000  25,000 ò³r$tºyæþ$Ë$ 5,000  10,000 

àÒ$Ìôý° º¬×êË$ 10,000  15,000 çÜÆæÿ$Mæü$°ËÓ 80,000  60,000 

º¬×ý§é™èþË$ 25,000  20,000 º¬×ý“VæüçÜ$¢Ë$ 40,000  30,000 

^ðþÍÏ…ç³#¼Ë$ÏË$ 10,000  10,000 ¯@þVæü§æþ$ 10,000  10,000 

 2,35,000  2,30,000  2,35,000  2,30,000 

15. The following direct costs were incurred an job 123 of XY Ltd. 

 Materials : 6010 

 Wages : 

 Department A 60 hours @ 30 per unit 

 Department B 40 hours @ 20 per unit 

 Department C 20 hours @ 50 per unit 

 overhead for these three departments were estimated as follows: 

 Variable overheads : 

 Department A - Rs.15,000 for 1500 labour hours 

 Department B - Rs.4,000 for 200 labour hours 

 Department C - Rs.12,000 for 300 labour hours 
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 Fixed over head : Estimated at Rs.40,000 for 2000 normal working hours. 

 You are required to calculate the cost of job No.123 and Calculate the price to give 

profit of 25% on selling price. 

 XY ÍÑ$sñýyŠþ Äñý¬MæüP gê»Œý ¯ðþ…ºÆæÿ$ 123 {ç³™èþÅ„æü Ð@þÅÄ¶ý*Ë$ D“Mìü…¨Ñ«§æþ…V> E¯é²Æÿ¬ :  

 Ðèþ$$yìþç³§éÆ>¦Ë$ : 6010 

 Ðóþ™èþ¯éË$ : 
 A Ñ¿êVæü… 60 Væü…rË$ Væü…rMæü$ 30  

 B Ñ¿êVæü… 40 Væü…rË$ Væü…rMæü$ 20  
 C Ñ¿êVæü… 20 Væü…rË$ Væü…rMæü$  50 

 KÐ@þÆŠÿòßýyŠþ “Mìü…¨Ñ«§æþ…V> A…^èþ¯é ÐóþíÜ¯éÆæÿ$  

 ^èþÆæÿÄñý$O¯èþ KÐèþÆŠÿ òßýyŠþ : 
 A Ñ¿êVæü… 1500 “Ô>Ñ$Mæü Væü…rËMæü$ 15,000 

 B Ñ¿êVæü… 200 “Ô>Ñ$Mæü Væü…rËMæü$  4,000 

 C Ñ¿êVæü… 300 “Ô>Ñ$Mæü Væü…rËMæü$ 12,000  

 íÜ¦Ææÿ KÐ@þÆŠÿòßýyŠþ :  
 2000 Ýë«§éÆæÿ×ý ç³° Væü…rËMæü$ 40,000/- V> A…^èþ¯é ÐóþíÜ¯éÆæÿ$. AÐ@þ$ÃMæü… «§æþÆæÿOò³ 25% Ë¿ê°² A…^èþ¯é 
ÐóþçÜ*¢  gê»Œý¯ðþ…ºÆæÿ$ 123 Äñý¬MæüP «§æþÆæÿ¯@þ$ Mæü¯@þ$Vö¯@þ…yì . 

16. Prepare stores ledger under FIFO method and LIFO method. 

2007   
Jan 1 Opening stock 200 unit @ 2 per unit 

3 Receipts 100 unit @ 1 per unit 
4 Issued 250 units 
8 Receipts 100 units @ 2 per unit 

14 Receipts 50 units @ 4 per unit 
20 Issued 120 units 
24 Receipts 70 units @ 3 per unit 
28 Issued 60 units 

 D“Mìü…¨ ÑÐ@þÆ>Ë$ ¯@þ$…_ FIFO ç³§æþ®† Ð@þ$ÇÄ¶ý¬ LIFO ç³§æþ®†° °ÇÃ…^èþ…yìþ. 
2007   
f¯èþÐèþÇ 1 {´ëÆæÿ…¿¶ý çÜÆæÿ$Mæü$ çÜÆæÿ$Mæü$ 200 Ä¶ýÊ°r$Ï 1Mìü Ææÿ*. 2/& 

3 Ð@þçÜ*â¶ý$å 100 Ä¶ýÊ°r$Ï, Ä¶ýÊ°sŒý 1Mìü Ææÿ*.1/& 

4 gêÈ 250 Ä¶ýÊ°r$Ï 
8 Ð@þçÜ*â¶ý$å 100 Ä¶ýÊ°r$Ï 1Mìü Ææÿ*.2/& 

14 Ð@þçÜ*â¶ý$å 50 Ä¶ýÊ°r$Ï 1Mìü Ææÿ*.4/& 
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20 gêÈ 120 Ä¶ýÊ°r$Ï 
24 Ð@þçÜ*â¶ý$å  70 Ä¶ýÊ°r$Ï 1Mìü Ææÿ*.3/&-- 
28 gêÈ 60 Ä¶ýÊ°r$Ï 

17. Using on the information and the form given below compute the Balance sheet 
items for a firm having sales of Rs.48,00,000. 

Sales / Total Assets 3 
Sales / Fixed Assets 5 
Sales / Current Assets 7.5 
Sales / inventories 20 
Sales / debtors 15 
Current ratio 2 
Total Assets / Net Worth 2.5 
Debt / Equity 1.0 

 ¨Væü$Ð@þ ÑÐ@þÆæÿÐ@þ¬Ë ¯@þ$…_ BíÜ¢ & Aç³šË ç³sìýtMæü¯@þ$ ™èþÄ¶ý*Ææÿ$^óþÄ¶ý¬Ð@þ¬. 

 AÐèþ$ÃM>Ë$ Ææÿ*.48,00,000. 
AÐ@þ$ÃM>Ë$ / Ððþ$$™èþ¢Ðèþ$$ AçÜ$¢Ë$ 3 

AÐ@þ$ÃM>Ë$ / íÜ¦Æ>çÜ$¢Ë$ 5 

AÐ@þ$ÃM>Ë$ / {ç³çÜ$¢™èþ BçÜ$¢Ë$ 7.5 

AÐ@þ$ÃM>Ë$ / çÜÆæÿ$Mæü$ 20 

AÐ@þ$ÃM>Ë$ / º¬×ý“VæüçÜ$¢Ë$ 15 

{ç³çÜ$¢™èþ °çÙµ†¢ 2 

Ððþ¬™èþ¢Ð@þ¬ BçÜ$¢Ë$ / °MæüÆæÿÑË$Ð@þ 2.5 

º¬×ýÐ@þ¬ / DMìüÓsîý 1.0 

18. Enumerate the limitations of financial statements. 

 Ñ™èþ¢ç³sîýtË$ ç³ÇÑ$™èþ$Ë$ ™ðþË$ç³#Ð@þ¬. 

———————— 
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    (DBC 34) 

B.Com. DEGREE EXAMINATION, DECEMBER 2019. 

Third Year  

BUSINESS CORRESPONDENCE AND  
REPORT WRITING 

Time : Three hours  Maximum : 70 marks 

SECTION A — (4  3 = 12 marks) 

Answer any FOUR of the following. 

1. Verbal Communication. 

 

2. Communication process. 

 

3. Communication network. 

 

4. Grapevine. 

 

5. Features of written communication. 

 

6. Appointment orders. 

 

7. Basic principles of Report writing. 

 

8. Motivation. 

 

SECTION B — (2  8 = 16 marks) 
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Answer any TWO of the following. 

9. Explain types of communication. 

 

10. Distinguish between formal and informal communication. 

 

11. Explain the principles of communication. 

 

12. What are the advantages of intra personal communication? 

 

SECTION C — (3  14 = 42 marks) 

Answer any THREE of the following. 

13. "Effective Communication play important role in Business". Discuss. 

 " "  

14. Enunciate the errors in interpretation of information. 

 

15. Write a job appointment letter. 

 

16. Why written communication is more effective than oral communication? 

 

17. Trace out various barriers to communication and how do you overcome. 

 

18. Discuss the report and what are the various kinds of report? 

 

–––––––––––––––– 
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    (DBC 35) 

B.Com. DEGREE EXAMINATION, DECEMBER 2019. 

Third Year  

BUSINESS DATA PROCESSING SYSTEMS 

Time : Three hours  Maximum : 70 marks 

SECTION A — (4  3 = 12 marks) 

Answer any FOUR questions. 

1. Discuss about the access operator used in query. 

 access 

2. Explain records and fields. 

 

3. Important commands of Dbase. 

 Dbase  

4. What is sorting? 

 Sorting  

5. What is form printing? 

 Form  

6. What is formating worksheet? 

 formating 

7. File management under windows. 

 

8. How will you change the appearance of text? 

 Text  

SECTION B — (2  8 = 16 marks) 
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Answer any TWO questions. 

9. What is data processing? Explain the meaning and purpose of data processing. 

 

10. Explain the retrieving database records. 

 

11. Write a procedure to print graphs. 

 

12. Explain file manipulation and maintenance. 

 

SECTION C — (3  14 = 42 marks) 

Answer any THREE questions. 

13. Explain about the data storage files and records in data processing. 

 

14. Explain sorting the database, sorting with sort option and sorting with index 
option. 

 sort option index option 

15. Explain the complete list of functions in Excel. 

 Excel  

16. What is spread sheet? Explain its advantages. 

 Spread  

17. How can you create an Excel database? 

 Excel  

18. What an the options in File and Edit menu? 

 option 



 

  

Arun 

     (DBC 36) 

B.Com. DEGREE EXAMINATION, DECEMBER 2019. 

Third Year 

CORPORATE ACCOUNTING 

Time : Three hours Maximum : 70 marks 

SECTION A — (4  3 = 12 marks) 

Answer any FOUR of the following questions. 

1. Purchase consideration 

 Mö¯@þ$VøË$ {ç³†çœËÐ@þ¬ 

2. General Insurance 

 Ýë«§éÆæÿ×ý ÁÐ@þ* 

3. Profits prior to incorporation 

 ¯@þÐðþ*§æþ$Mæü$ Ð@þ¬…§æþ$ Ìê¿êË$ 

4. Significance of Accounting standards 

 AMú…sìý…VŠü {ç³Ð@þ*×êË {´ëÐ@þ¬QÅ™èþ 

5. Need for valuation of shares 

 ÐésêË Ð@þÊÌêÅ…Mæü¯@þ BÐ@þÔ¶ýÅMæü™èþ 

6. Amalgamation 

 çÜ…Äñý*VæüÐ@þ¬ 

7. Internal Reconstruction 

 A…™èþÆæÿY™èþ ç³#¯@þ]°Æ>Ã×ýÐ@þ¬ 

8. What is valuation of shares? 

 ÐésêË Ð@þÊÌêÅ…Mæü¯@þ A¯@þV>¯óþÑ$? 
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 SECTION B — (2  8 = 16 marks) 

 Answer any TWO of the following questions. 

9. Bunni Ltd forfeited 10,000 shares of Rs. 100 each, Rs. 80 per share called up on 
which Mr.Ram, a shareholder paid application and allotment money of Rs. 60 per 
share but did not pay the first and last call money Rs. 20 per share. Of these 
forfeited shares Rs. 8,000 shares were subsequently reissued by the company as 
fully paid-up for Rs. 80 per share. Give journal entries for the forfeiture and re-
issue of shares. 

 10,000 ÐésêË$ MæüÍW¯@þ }Æ>ÐŒþ$ Ðésê 1 Mìü Ææÿ*.100 MøÇ¯@þ Ð@þÊË«§æþ¯@þÐ@þ¬ Ææÿ*.80 §æþÆæÿRêçÜ$¢ Ð@þ$ÇÄ¶ý¬ 
MóüsêÆÿ¬…ç³# Ææÿ*.60 ^ðþÍÏ…_¯@þ í³§æþç³, Ððþ¬§æþsìý Ð@þ$ÇÄ¶ý¬ BQÇ í³Ë$ç³#Oò³ Ææÿ*.20 ^ðþÍÏ…^èþÌôý§æþ$. ¯øsîýçÜ$ 
gêÈ^óþíÜ¯@þ í³§æþç³ º±² Mæü…ò³± »ZÆæÿ$z B ÐésêË¯@þ$ fç³#¢ ^óþíÜ¯éÆæÿ$. fç³#¢ AÆÿ¬¯@þ ÐésêËÌZ 8,000 
ÐésêË$, Ðésê 1 Mìü 80 Ð@þ$äå gêÈ ^óþíÜ†Ç. B Ððþ¬™é¢°² §æþ–íÙtÌZ ò³r$tMö° _sêtç³§æþ$ªË$ {ÐéÄ¶ý¬Ð@þ¬. 

10. Explain briefly the division of share capital. 

 Ðésê Ð@þÊË«§æþ¯@þ Ñ¿¶ýf¯@þ Væü*Ça Mæü$Ïç³¢…V> ÑÐ@þÇ…ç³#Ð@þ¬. 

11. From the following particular calculate the fair value of equity shares assuming 
that out of the total assets 4,100 are fictitious. 

 (a) Share Capital : 5,500 10% preference shares Rs.100 each fully paid; 5,500 
equity shares of each Rs.10 fully paid. 

 (b) Liability to outsiders Rs.75,000 

 (c) Reserves and surplus Rs.45,000 

 (d) Average normal profit after taxation Rs.85,050 

 (e) The normal profit earned on market value of fully paid equity shares of 
similar companies is 12% 

 “Mìü…¨ ÑÐ@þÆ>Ë ¯@þ$…yìþ DMìüÓsìý Ðésê Äñý¬MæüP Ä¶ý¬Mæü¢OÐðþ$¯@þ (fair value) ÑË$Ð@þ¯@þ$ Mæü¯@þ$Vö¯@þ…yìþ. Ððþ¬™èþ¢… 
BçÜ$¢Ë™ø 4,100 BçÜ$¢Ë MæüÍµ™èþ BçÜ$¢Ë$V> ¿êÑ…^èþ…yìþ. 

 (a) Ðésê Ð@þÊË«§æþ¯@þ… : 5,500 10% B«¨MæüÅç³# ÐésêË$ JMöPMæüPsìý 100/& ç³NÇ¢V> ^ðþÍÏ…_¯@þ¨. 
55,000 DMìüÓsîý ÐésêË$ JMöPMæüPsìý 10/& 

 (b) ºÄ¶ý$sìýÐéÇ Aç³šË$ Ææÿ*.75,000 

 (c) ÇfÆæÿ$Ó Ñ$Væü$Ë$ Ææÿ*.45,000 

 (d) ç³¯@þ$²Ë$ ™èþÆæÿ$Ðé™èþ Ýë«§éÆæÿ×ý çÜVæür$ Ìê¿¶ý… Ææÿ*.85,050 
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 (e) C§óþ ÆæÿMæüOÐðþ$¯@þ Mæü…ò³±Ë DMìüÓsîý ÐésêË Ð@þ*ÆðÿPsŒý ÑË$Ð@þ Ò$§æþ A…^èþ¯é ÐóþíÜ¯@þ Æ>ºsìýÆóÿr$ 12% 

12. Y company issued 6% 50,000, preference shares of Rs.100 each for subscription. 
The preference share moneys are payable as follows: Rs.35 on application, Rs.35 on 
allotment, Rs.20 on first call and Rs.10 on second call. Mr.Yellow who holds 1000 
preference shares fails to pay the amount due at the time of allotment. He 
however, pays this amount with the first call money. Give journal entries in the 
books of the company. 

 6%  50,000 B«̈ MæüÅç³# ÐésêË$ JMæüPsìý Ææÿ*.100 ^öç³š¯@þ Y Mæü…ò³± gêÈ ^óþòÜ¯@þ$. B«¨MæüÅç³# ÐésêË 
Ð@þÊÌêÅ°² “Mìü…¨Ñ«§æþ…V> Ð@þçÜ*Ë$ ^óþíÜ…¨.  
§æþÆæÿRêçÜ$¢Oò³ Ææÿ*.35, MóüsêÆÿ¬…ç³#Oò³ Ææÿ*. 35, Ððþ¬§æþsìý í³Ë$ç³#Oò³ Ææÿ*.20 Ð@þ$ÇÄ¶ý¬ BQÇ í³Ë$ç³#Oò³ 
Ææÿ*.10. 1000 ÐésêË$ MæüÍWÄ¶ý¬¯@þ² } GÌZÏ MóüsêÆÿ¬…ç³# Ý÷Ð@þ¬Ã¯@þ$ ^ðþÍÏ…^èþÌôý§æþ$. M>± ÐésêË 
Ððþ¬§æþsìý í³Ë$ç³#™ø MóüsêÆÿ¬…ç³# Ððþ¬™èþ¢… Mæü*yæþ ^ðþÍÏ…^ðþ¯@þ$. AÐ@þçÜÆæÿOÐðþ$¯@þ _sêtç³§æþ$ªË$ {ÐéÄ¶ý¬Ð@þ¬. 

 SECTION C — (3  14 = 42 marks) 

 Answer any THREE of the following questions. 

13. A life insurance company disclosed a fund of Rs.2,00,000 and the balance sheet 
total Rs.45,00,000 on 31/12/01 before taking following into consideration. 

 (i) A claim of 10,000 was intimated and admitted but not paid during the year. 

 (ii) A claim of 6,000 outstanding in the books for 8 years. 

 (iii) Interest on securities accrued Rs.800 but not received during the year. 

 (iv) Rent on own building occupied Rs.2,000 

 (v) Premium of 600 is payable under reinsurance 

 (vi) Re-insurance recoveries 26,000 

 (vii) Bonus utilized in reduction of premium Rs.10,000 and  

 (viii) Agents commission to be paid 8,000. 

 Pass the necessary journal entries for the above omission. Recomputed the fund 
and show the balance sheet total after making the above adjustments. 

 JMæü iÑ™èþ  ÁÐ@þ* çÜ…çÜ¦ D“Mìü…¨ ÌñýMæüPÌZMìü ¡çÜ$MøMæüÐ@þ¬…§æþ$ 31.12.01 °«̈  Ææÿ*.2,00,000 Ð@þ$ÇÄ¶ý¬ 
BíÜ¢ Aç³šË ç³sîýt Ððþ¬™èþ¢… Ææÿ*. 45,00,000 ™ðþÍÄ¶ý$gôýçÜ$¢…¨.  

 (i) B çÜ…Ð@þ™èþÞÆæÿÐ@þ¬ÌZ 10,000 MðüÏÆÿ¬ÐŒþ$ ™ðþÍÄ¶ý$gôýíÜ A…XMæüÇ…_¯@þç³µsìýMîü C…M> ^ðþÍÏ…^èþÌôý§æþ$ 
 (ii) Væü™èþ 8 çÜ…Ð@þ™èþÞÆ>Ë¯@þ$…yìþ ^ðþÍÏ…^éÍÞ¯@þ 6000 MðüÏÆÿ¬ÐŒþ$¯@þ$ Ææÿ§æþ$ª ^óþÄ¶ý*Í 

 (iii) òÜMæü*ÅÇsîýËOò³ BÇj…_¯@þ Ð@þyîþz 800 çÜ…Ð@þ™èþÞÆæÿÐ@þ¬ÌZ Æÿ¬…M> Ð@þçÜ*Ë$ M>Ìôý§æþ$ 
 (iv) B“MæüÑ$…_¯@þ Ý÷…™èþ ¿¶ýÐ@þ¯@þ…Oò³ A§ðþª Ææÿ*. 2,000 

 (v) ç³#¯@þÈÂÐ@þ* Ð@þçÜ*â¶ýå “Mìü…¨ Ææÿ*. 600 ^ðþÍÏ… è̂þyæþOÐðþ$¯@þ¨ 

 (vi) ç³#¯@þÈÂÐ@þ* Ð@þçÜ*Ë$ Ææÿ*. 26,000 

 (vii) {ï³Ñ$Ä¶ý$… ™èþWY…ç³#V> Ñ°Äñý*W…_¯@þ »Z¯@þ‹Ü Ææÿ*. 10,000 
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 (viii) ^ðþÍÏ…^éÍÞ¯@þ Hgñý…r$Ï MæüÒ$çÙ¯Œþ Ææÿ*. 8,000 

 Oò³ çÜÆæÿ$ª»êrÏMæü$ _sêtç³§æþ$ªË$ {ÐéíÜ, °«̈ ° †ÇW ÌñýMìüP…_ Oò³ çÜÆæÿ$ª»êrÏ ™èþÆæÿ$Ðé™èþ BíÜ¢ Aç³šË ç³sîýt 
Ððþ¬™é¢°² 
Mæü¯@þ$Vö¯@þ…yìþ. 

14. Using the following data, complete the balance sheet given below: 

Gross profit Rs.54,000 
Share holders equity Rs.6,00,000 
Gross profit Margin 20% 
Credit sales to total sales 80% 
Total assets turnover 0.3 times 
Inventory turnover 4 times 
Average collection period (a 360 days year) 20 days 
Current ratio 1.5 
Long term debt to equity 40% 

 
Balance Sheet 

Creditors _____ Cash _____ 
Long term debt _____ Debtors _____ 
Share holders equity _____ Inventory _____ 
  Fixed Assets _____ 
    
 ---  --- 

 D“Mìü…§æþ CÐ@þÓºyìþ¯@þ çÜÐ@þ*^éÆæÿÐ@þ¬™ø BíÜ¢ Aç³šË ç³sîýt° ™èþÄ¶ý*Ææÿ$^óþÄ¶ý¬Ð@þ¬ 
çÜ*¦ËÌê¿¶ýÐ@þ¬ Ææÿ*. 54,000 
ò³r$tºyìþ§éÆæÿ$Ë Ðésê Ææÿ*. 6,00,000 
çÜ*¦Ë Ìê¿¶ýÔ>™èþÐ@þ¬ 20% 
Ððþ¬™èþ¢… AÐ@þ$ÃM>ËÌZ AÆæÿ$Ð@þ# AÐ@þ$ÃM>Ë$ 80% 

Ððþ¬™èþ¢… BçÜ$¢Ë rÆø²Ð@þÆŠÿ  0.3 Æðÿr$Ï 
C¯ðþÓ…rÈ rÆø²Ð@þÆŠÿ  4 Æðÿr$Ï 
¯@þVæü§æþ$ Ð@þçÜ*â¶ýå çÜÐ@þ$Ä¶ý$Ð@þ¬  
(çÜ…Ð@þ™èþÞÆ>°Mìü 360 ÆøkË$V> ¿êÑ…^èþÐ@þÌñý¯@þ$) 

20 ÆøkË$ 

{ç³çÜ$¢™èþ °çÙµ†¢ 1:5 

©ÆæÿƒM>ÍMæü Aç³š / DMìüÓsîý 40% 
 

BíÜ¢ Aç³šË ç³sìýtMæü 
º¬×ý§é™èþË$ _____ ¯@þVæü§æþ$ _____ 

©ÆæÿƒM>ÍMæü Aç³š _____ º¬×ý“VæüçÜ$¢Ë$ _____ 

Ðésê§éÆæÿ$Ë ò³r$tºyìþ _____ C¯ðþÓ…rÈ _____ 

  íÜ¦Ææÿ BçÜ$¢Ë$ _____ 
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 ---  --- 

15. What are the legal provisions relating to preparation of final accounts of banks? 

 »êÅ…Mæü$ Ð@þ¬W…ç³# ÌñýMæüPË$ ™èþÄ¶ý*Ææÿ$ ^óþÄ¶ý¬rMæü$ çÜ…º…«¨…_ Ô>çÜ¯@þ °º…«§æþ¯@þË$ HÑ$sìý? 

16. The following balances are created from the books of ABC Bank Ltd as on 31/03/17. 
Prepare profit and loss A/c as per the Banking Regulation Act. 

Particulars Amount Rs. 
Profit & Loss A/c (cr) 80,646 
Printing & Stationery 6,780 
Directors Fees 9,960 
Audit Fees 2,000 
Interest & Discount 4,20,446 
Commission 2,04,450 
Postage 2,306 
Rent and Taxes 17,000 
Salaries 84,300 
Legal Expenses 3,300 
Contribution to Employee Provident fund 20,000 

 Other Information:- 

 (a) Depreciation is to be charged on Land and Buildings at Rs.16,000 and on 
Furniture Rs.7,000. 

 (b) Create a provision for bad depts Rs.2,20,000 

 (c) Rebate on bills discounted is Rs.30,000 

 “Mìü…¨ ÑÐ@þÆ>Ë$ ABC »êÅ…Mæü$ ÍÑ$sñýyŠþMæü$ çÜ…º…«¨…_¯@þÑ 31.03.17 ™ø A…™èþÐ@þ$Äôý$Å çÜ…Ð@þ™éÞÆ>°Mìü  
»êÅ…Mìü…VŠü °Ä¶ý$…{™èþ×ý ^èþrt… {ç³M>Ææÿ… Ìê¿¶ý¯@þÚëtË A/c ¯@þ$ ™èþÄ¶ý*Ææÿ$ ^óþÄ¶ý$…yìþ. 

ÑÐ@þÆ>Ë$  Ððþ¬™èþ¢… (Ææÿ*.) 
Ìê¿¶ý¯@þÚëtË A/c (“MðüyìþsŒý) 80,646 

Ð@þ¬{§æþ×ý, õÜtçÙ¯@þÈ 6,780 

OyðþÆðÿMæütÆæÿÏ ïœk 9,960 

ByìþrÆæÿÏ ïœk 2,000 

Ð@þyîþz Ð@þ$ÇÄ¶ý¬ yìþÝûP…r$Ï 4,20,446 

MæüÒ$çÙ¯Œþ 2,04,450 

´ùõÜti 2,306 

A§ðþª, ç³¯@þ$²Ë$ 17,000 

i™éË$ 84,300 

¯éÅÄ¶ý$ç³ÆæÿOÐðþ$¯@þ QÆæÿ$aË$ 3,300 

E§øÅVæü ¿¶ýÑçÙÅ°«¨Mìü ^ðþÍÏ…ç³#  20,000 

 C™èþÆæÿ ÑÐ@þÆ>Ë$ : 
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 (a) ¿¶ý*Ñ$, ¿¶ýÐ@þ¯éËOò³ Ææÿ*. 16,000/- Ð@þ$ÇÄ¶ý¬ çœÇ²^èþÆŠÿOò³ Ææÿ*.7,000/- ™èþÆæÿ$Væü$§æþË HÆ>µr$ 
^óþÄ¶ý*Í 

 (b) Æ>° »êMîüË °«¨OMðü Ææÿ*. 2,20,000/- HÆ>µr$ ^óþÄ¶ý*Í 

 (c) ¼Ë$ÏË yìþÝûP…r$Oò³ Ç»ôýr$ Ææÿ*. 30,000/- 

17. What is meant by Bonus shares? When the bonus shares were issued? 

 »Z¯@þ‹Ü ÐésêË$ A¯@þV>¯óþÑ$? Ðésìý° Gç³šyæþ$ gêÈ ^óþÝë¢Ææÿ$? 

18. Define share valuation. Explain its need, impact of earning and growth valuation. 

 Ðésê Ð@þ$¨…ç³#¯@þ$ °ÆæÿÓ_…_, §é° BÐ@þÔ¶ýÅMæü™èþ, BÆæÿj̄ @þËOò³ {ç³¿êÐ@þÐ@þ¬ Ð@þ$ÇÄ¶ý¬ Ðésê Ð@þ$¨…ç³# AÀÐ@þ–¨® 
Væü*Ça ÑÐ@þÇ…ç³#Ð@þ¬. 

———————— 
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B.Com. DEGREE EXAMINATIONS, DECEMBER 2019. 

Third Year 

ADVANCED MANAGEMENT ACCOUNTING 

Time : Three hours Maximum : 70 marks 

SECTION A — (4  3 = 12 marks) 

Answer any FOUR of the following. 

1. Functions of Management accounting. 

 °ÆæÿÓçßý×ý AMú…sìý…VŠü Ñ«§æþ$Ë$ 

2. Fixed Budget 

 íÜ¦ÆæÿºyðþjsŒý  

3. Marginal costing 

 Ð@þ*Çj̄ @þÌŒý M>íÜt…VŠü 

4. Types of working capital 

 °Æ>Óçßý×ý Ð@þÊË«§æþ¯@þ… ÆæÿM>Ë$ 

5. Break Even analysis 

 {»ôýMŠü DÐðþ¯Œþ ÑÔóýÏçÙ×ý 

6. Idle time variance 

 Ð@þ–£éM>ËÐ@þ¬ Ñ^èþÆæÿ×ý 

7. Cash flows from financing activities 

 BÇ¦Mæü M>ÆæÿÅMæüÌê´ëË §éÓÆ> ¯@þVæü§æþ$ {ç³ÐéçßýÐ@þ¬ 

8. Management Information system. 

 °ÆæÿÓçßý×ý çÜÐ@þ*^éÆæÿ Ð@þÅÐ@þçÜ¦. 

 SECTION B — (2  8 = 16 marks) 

 Answer any TWO of the following questions. 

9. Difference between Financial accounting and Management accounting. 

 °ÆæÿÓçßý×ý AMú…sìý…VŠü Ð@þ$ÇÄ¶ý¬ Oòœ¯é°ÞÄ¶ý$ÌŒý AMú…sìý…VŠü (Ñ™èþ¢ AMú…sìý…VŠü) Ð@þ$«§æþÅVæüË ™óþyéË¯@þ$ 
ÑÐ@þÇ…ç³#Ð@þ¬. 

10. From the following particulars compute the following 

 (a) Material Cost variance  
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 (b) Material Price variance 

 (c) Material usage variance 

Standard Actual 

Materials 
Quantity  

units 
Price  

per unit 
Materials 

Quantity  
units 

Price per 
unit 

X 1240 34 X 1250 35 
Y 1180 40 Y 1180 38 
Z 1430 28 Z 1440 27 

 
 D“Mìü…¨ ÑÐ@þÆ>Ë ¯@þ$…yìþ Ððþ$sîýÇÄ¶ý$ÌŒý Ñ^èþÆæÿ×ýË¯@þ$ ÌñýMìüP…^èþ…yìþ.  
 (a) Ððþ$sîýÇÄ¶ý$ÌŒý Ð@þÅÄ¶ý$ Ñ^èþÆæÿ×ý 
 (b) Ððþ$sîýÇÄ¶ý$ÌŒý «§æþÆæÿ Ñ^èþÆæÿ×ý 
 (c) Ððþ$sîýÇÄ¶ý$ÌŒý Ñ°Äñý*Væü Ñ^èþÆæÿ×ý 

{´ëÐ@þ*×ìýMæüÐ@þ¬ ÐéçÜ¢Ð@þÐ@þ¬ 

Ððþ$sîýÇÄ¶ý$ÌŒý 
ç³ÇÐ@þ*×ýÐ@þ¬  
Ä¶ýÊ°r$Ï Ä¶ýÊ°sŒý «§æþÆæÿ Ððþ$sîýÇÄ¶ý$ÌŒý 

ç³ÇÐ@þ*×ýÐ@þ¬  
Ä¶ýÊ°r$Ï 

Ä¶ýÊ°sŒý 
«§æþÆæÿ 

X 1240 34 X 1250 35 
Y 1180 40 Y 1180 38 
Z 1430 28 Z 1440 27 

11. Prepare a flexible budget for the production at 80% and 100% activity on the basis 
of following information. 

Production at 50% Capacity 6000 units 
Raw materials Rs.30 per unit 
Direct Labour Rs.28 per unit 
Direct Expenses Rs.18 per unit 
Factory Expenses Rs.60,000 (40% fited) 
Administration Expenses Rs.1,20,000 (70% variable) 

 D“Mìü…¨ çÜÐ@þ*^éÆæÿ… B«§éÆæÿ…V> 80% Ð@þ$ÇÄ¶ý¬ 100% ÝëÐ@þ$Ææÿ¦Å… Ð@þ§æþª ^èþÆæÿºyðþjsŒý° ™èþÄ¶ý*Ææÿ$ ^óþÄ¶ý$…yìþ. 
50% ÝëÐ@þ$Ææÿ¦Å… Ð@þ§æþª E™èþµ†¢  6000 Ä¶ýÊ°sŒýË$ 
Ððþ$sîýÇÄ¶ý$ÌŒý Ææÿ*. 30 Ä¶ýÊ°sŒýMìü 
{ç³™èþÅ„æü Ðóþ™èþ¯éË$ Ææÿ*. 28 Ä¶ýÊ°sŒýMìü 
{ç³™èþÅ„æü QÆæÿ$aË$  Ææÿ*.18  Ä¶ýÊ°sŒýMìü  
¸ëÅMæütÈ QÆæÿ$aË$ Ææÿ*. 60,000 (40% íÜ¦†) 

°ÆæÿÓçßý×ý QÆæÿ$aË$  Ææÿ*.1,20,000 (70% ^èþÆæÿ) 
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12. What is budgetory control? Explain briefly its advantages. 

 ºyðþjrÈ °Ä¶ý$…{™èþ×ý A @̄þV>¯óþÑ$? §é° Äñý¬MæüP {ç³Äñý*f¯éË¯@þ$ Mæü$Ïç³¢…V> ÑÐ@þÇ…^èþ…yìþ. 

 SECTION C — (3  14 = 42 marks) 

 Answer any THREE of the following. 

13. Distinguish between cash flow statement and funds flow statement. 
 ¯@þVæü§æþ$ {ç³Ðéçßý °Ðóþ¨MæüMæü$ Ð@þ$ÇÄ¶ý¬ °«§æþ$Ë {ç³Ðéçßý °Ðóþ¨MæüË Ð@þ$«§æþÅ Ð@þÅ™éÅÝëË¯@þ$ ÑÐ@þÇ…^èþ…yìþ.  

14. The sales and profit during the years were as follows. 

Year Sales Profit 
2016 2,40,000 30,000 
2017 2,70,000 42,000 

 Calculate : 
 (a) P/V Ratio 
 (b) BEP 
 (c) Profit when sales are Rs.1,50,000 
 (d) Sales required to earn a profit of Rs.57,000. 

 “Mìü…¨ çÜ…Ð@þ™èþÞÆ>ËÌZ AÐ@þ$ÃM>Ë$ Ð@þ$ÇÄ¶ý¬ Ìê¿êË$ D “Mìü…¨ Ñ«§æþ…V> E¯é²Æÿ¬. 
çÜ…Ð@þ™èþÞÆæÿÐ@þ¬ AÐ@þ$ÃM>Ë$ Ìê¿êË$ 
2016 2,40,000 30,000 
2017 2,70,000 42,000 

 D“Mìü…¨ Ðésìý° ÌñýMìüP…^èþ…yìþ. 
 (a) P/V  °çÙµ†¢ 
 (b) BEP 
 (c) AÐ@þ$ÃM>Ë$ Ææÿ*.1,50,000 E…sôý Ìê¿¶ý… G…™èþ? 
 (d) Ææÿ*. 57,000 Ìê¿¶ý… E…sôý AÐ@þ$ÃM>Ë$ G…™èþ? 

15. What is standard costing? How it is helpful to Business firm in Decision making? 
 {´ëÐ@þ*×ìýMæü AMú…sìý…VŠü A¯@þV>¯óþÑ$? HÑ«§æþ…V> {´ëÐ@þ*×ìýMæü AMú…sìý…VŠü ÐéÅ´ëÆæÿçÜ…çÜ¦ °Ææÿ~Ä¶ý*Ë$ 
¡çÜ$MøÐ@þyæþ…ÌZ  çÜàÄ¶ý$… ^óþçÜ$¢…¨? 

16. Define working capital? What are the factors influence determination of working 
capital? 

 °ÆæÿÓçßý×ý Ð@þÊË«§æþ¯@þ…¯@þ$ °ÆæÿÓ_…^èþ…yìþ? H M>Ææÿ×êË$ °ÆæÿÓçßý×ý Ð@þÊË«§æþ¯@þ °Æ>®Ææÿ×ý¯@þ$ {ç³¿êÑ™èþ… 
^óþÝë¢Äñý*  ^èþ*ç³…yìþ. 

17. The following is the balance sheet of a limited company on 31st December 2016 and 
2017. 

Liabilities 2016  2017 Assets 2016  2017 
Share Capital 70,000  74,000 Bank 9,000  7,800 
Debentures 12,000  6,000 Debtors 14,900  17,700 
Creditors 10,360  11,840 Stock 49,200  42,700 

Provision for doubtful 
debts 

700  
800 

Land 20,000  30,000 
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Profit and loss A/c 10,040  10,560 Goodwill 10,000  5,000 
 1,03,100  1,03,200  1,03,100  1,03,200 

 Additional Information: 
 (a) Dividend paid 3,500 during the year 2017. 
 (b) Land was purchased for 10,000 
 (c) Debentures 6,000 were redeemed during the year 
 Prepare Cash flow statement. 

 JMæü ÍÑ$sñýyŠþ Mæü…ò³± Äñý¬MæüP BíÜ¢ Aç³šË ç³sîýtË$ 31.12.2017 ¯@þ “Mìü…¨ Ñ«§æþ…V> E¯é²Æÿ¬. 
Aç³šË$ 2016  2017 BçÜ$¢Ë$ 2016  2017 

ÐésêÐ@þÊË«§æþ¯@þ… 70,000  74,000 »êÅ…Mæü$ 9,000  7,800 

yìþ»ñý…^èþÆæÿ$Ï 12,000  6,000 º$$×ý{VæüçÜ$¢Ë$ 14,900  17,700 

º¬×ý§é™èþË$ 10,360  11,840 çÜÆæÿ$Mæü$ °ËÓ 49,200  42,700 

çÜ…Ô¶ýÄ¶ý*™èþÃMæü »êMîüË°«¨ 700  800 ¿æý*Ñ$ 20,000  30,000 

Ìê¿¶ý¯@þÚëtË Rê™é 10,040  10,560 Væü$yŠþÑÌŒý 10,000  5,000 

 1,03,100  1,03,200  1,03,100  1,03,200 
 A§æþ¯@þç³# çÜÐ@þ*^éÆæÿ… 
 (a) 2017 Ð@þ çÜ…Ð@þ™èþÞÆæÿ…ÌZ ^ðþÍÏ…_¯@þ yìþÑyðþ…r$ 3,500 

 (b) ¿¶ý*Ñ$° 10,000 ËMæü$ Mö¯é²Ææÿ$ 
 (c) D çÜ…Ð@þ™èþÞÆæÿ… 6,000 yìþ»ñý…^èþÆæÿÏ̄ @þ$ ÑÐðþ*^èþ¯@þ… ^óþíÜ¯éÆæÿ$. 
 ¯@þVæü§æþ$ {ç³Ðéçßý°Ðóþ¨Mæü¯@þ$ ™èþÄ¶ý*Ææÿ$ ^óþÄ¶ý$…yìþ. 

18. Following data relate to XYZ company. 

  Normal Capacity 40,000 units per month. 

  Variable Cost per unit Rs.6 

  Actual production 44,000 units. 

  Sales 40,000 units @ Rs.15 per unit. 

 Fixed manufacturing overhead Rs.1,00,000 per month or Rs.2.50 per unit at 
normal capacity. 

 Other fixed expenses Rs.2,40,000 per month 

 Prepare Income statement under absorption costing. 

 “Mìü…¨ XYZ Mæü…ò³±Mìü çÜ…º…«¨…_¯@þ çÜÐ@þ*^éÆæÿ….  
  Ýë«§éÆæÿ×ý ÝëÐ@þ$Ææÿ¦Å… ¯ðþËMæü$ 40,000 Ä¶ýÊ°r$Ï  
  ^èþÆæÿÐ@þÅÄ¶ý$… Ä¶ýÊ°sŒýMìü Ææÿ*.6  

  ÐéçÜ¢ÑMæü E™èþµ†¢ 44,000 Ä¶ýÊ°r$Ï  
  AÐ@þ$ÃM>Ë$ 40,000  Ä¶ýÊ°r$Ï @ Ä¶ýÊ°sŒýMìü Ææÿ*.15  
  íÜ¦ÆæÿE™èþµ†¢ KÐ@þÆŠÿòßýyŠþ ¯ðþËMæü$ Ææÿ*.1,00,000 Ìôý§é Ýë«§éÆæÿ×ý ÝëÐ@þ$Ææÿ¦Å… Ð@þ§æþª Ä¶ýÊ°sŒýMìü Ææÿ*. 2.50  

 C™èþÆæÿ QÆæÿ$aË$ ¯ðþËMæü$ Ææÿ*. 2,40,000. çÜ…Î¯@þ M>íÜt…VŠü B«§éÆæÿ…V> B§éÄ¶ý$ °Ðóþ¨Mæü¯@þ$ (B§éÄ¶ý$ç³sîýt)    

  


